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i
m Operations with Decimals

WORDS TO LEARN

digits to the right of the decimal point being less than 1 about 9.19 kg.

Decimal - a numeral containing a decimal point with the value of | The dog weighs

G

| weigh 9 and 186 thousandths kilograms. J

Expanded form:
9.186=9+0.1+0.08 + 0.006

Write the decimals in expanded form and in words.

OM 45.619 In expanded form:

Ol 60.202 In expanded form:;

In words:

In words:

Find the answers.

®© 6.8 @ 3.175 © 4.017
- 2.549 + 0.856 - 3.
® 914+2889=__  © 346-0875=___
406-3451=___ @ 707+1864=___

If Susan weighs 28.64 kg, her cat weighs
— kg.
D
%) @ If Susan’s cat gains 0.524 kg, it will weigh
kg.
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Find the products or quotients mentally.

® 2.623x 100
Multiply - move the e 89.4 - 100
o fo the right
Divide -mave ihe 5.051x 10

2.93,x 100 = 293

Move it 2 places to the

6.25 + 100

®

= 2 ® 38=+10 =__
= = ® 0767x100=_____
= = ® 3054+100=___
= 1+1000 =__

Help Mrs. Martin solve the problems.

@ How much do 2.6 kg of apples cost?

0.

5 <— 2 decimal places

-<— ] decimal place

pa
O NN O

.6
0
0

O On

=0

Decimals x Decimals
The no. of decimal places
in the product is equal to

<— 3 decimal places

26 kg of applescost S

EERITE 0 42 e 020 0 e
S
@ 62/x18=____ ® 35x266 =___
® 415x63=____ @ 102x3.17=____
806x14=____ ®@ 219x8565 =__

3.8 kg of apples cost $
@ 4.7 kg of mangoes cost S

@ 1.5 kg of mangoes cost $

(correct to 1 decimal place).
(correct to 2 decimal places).

(correct to 2 decimal places).
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Follow Elaine’s method to do the division.

® Elaine wants to cut a 0.75-m long ribbon into strips of
0.15 m each. How many strips can she get?

075+ 015 =12 Multiply the dividend and the | J{

' divisor by 10, 100, or 1000 to make | _ "o\

_0.75x100 | the divisor a whole number first.
0.15x 100

0.48 ~ 0.2 <! decimal

place

1o 1575

<) 324 +04 ® 1.6 +0.08
_ 324X | _ 1.6 X |
~ 04 x 4 ~ 0.08 x 8
T4 -8
®@ 8856+005=__ ® 345+023 =__
0221 +13=__ ®@ 29045+19 =_
@ 1674+27=___ 1218+087 =

Each roll of riblbbon costs $0.95. How many
rolls of riblbon can Tony buy with $§17.10?

rolls of riblbon

1.5 m of ribbon is needed to tie a gift box.
How many Qift boxes can be tied with
13.5 m of ribbbon?

Qiff boxes
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Find the answers.

® 32+14-0.58 =_
64+04x1.3 =
soive r:“l‘:::';“ﬁ:f ® 3.84-1.765+2339 =
e.g. 3.3x4+02=132+02 @ 6.447 + 1.385 - 2.608
3.5x1.9+05
891 +27x1.44
® 17.8x42+28
Solve the problems.
@ Aboat covered adistance of 32.8kmin 1 h. Itwillcover_____ kmin

2.4n.

® Peter travelled 3.258 km on Monday and 4.165 km on Tuesday. He

fravelled ______ kmin the past two days.

®@ Sister Shark weighs 68.259 kg. If Sister Shark is 6.84 kg lighter than Brother
Shark, Brother Shark weighs __ kQ.

6 Brother Shark can swim 96.6 km in 1.5 h. He can

fravel __ kmin 1 h,

® Sister Shark is 0.87 m long. If Brother Shark is 1.2

fimes aslong as Sister Shark, heis______mlong.

® 235+235+1 =__ @ 1214+2x2 =__
® 3824x0+863 =__ @ 1x880+1 =___
® 665-665+34=____ ® 804x1-804=____
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